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1. Varen_ius’s .

- (b} regional geography

spec1al geography

systematzc geography

LA e 4
X f,) w M

(c) an empirical idea proved by

_experience
(d) a teleological concept
2. Consider the folloWing‘
statements :
.- 1.  Ritter .madé use of the
. regional approach  to
geography re_ther than the
- systematic study of
* individtial fedtiires. - |
... 2. de la Blache presented an,
’ effectlve refutatron ‘of the
~ idea  of  environmental
... determinism. .. . :
3. From Ratzel’s' second valume
of Anthropogeogrdphie,
- - Huntington forfiiulated 'the’
: -*-concept of‘posmbihsm
‘ _.Whlch of the statempnts given
“above is/: are, oorrect? o .
(@) 1-and 2 only - ;;zf; T O
(b)) 2'and 3 only ~
) 1 orily
e ;(d) 2 only
‘3. Who related the nse of
" “civilization in the ‘midlatitudes
and lack of development in the
. tropics to climatic condltlons?
(@), E. Huntlngton
- (e) -'W.;. M.Davis R
{d) F. Ratzel SR
?I-l.OsB

i g &
L 'ﬁ e

4. For preparing the world map,
Eratosthenes

" ‘meridiahs through which one of
-.i7, the following?

£

i VAR S

i
& b

o

.‘T)..\ '1\

used

(a) anary Island
) Alexandria
(c) 'Rome
(d) Syene (Aswan)

5. Wthh one of the followmg is the

correct ‘order of fthe geological
events on the earth from ancient
to more recent.times?-

i f@) “Hereypnian: - . orogeny—
.. Caledonian orogeny——Alpme

: L'orogeny
. '(b) vf.CaIeddman :

~ orogeny
.‘ f-,\ﬁﬁercyman ‘orogeny—Alpine
“-orogeny

R (o) ';Hercy‘nian orogeny—-Alpme

; 'orogeny—Ca.ledoman
»'orogeny el

B {(d) vAlpme orog‘eny——l-lercyman

6. Which one of the followmg )

'ﬂorogeny——-Caledoman ‘
'orogeny o ‘

colours is used to show the

cultivated area in ‘Survey of

- India’s topographmal maps of
“1: 50000 scale?

(a) Light. green
(b) Brown i
(c) Yellow
(d) Dark green
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7.'

List-I . List-IT .
(Lake) (Province/ Territory)
A. Great Bear = 1. Manitoba
Lake ‘

B. Lake 2. Saskatchewan
‘Winnipeg T
C. Reindeer Lake 3. Newfoundland

R ’ and Labrador

D. Lake Melville 4. North-West®

.+ ‘Territories
Code :

(@) A B.-C- D
2 1 4 3
) A B .C. D
4 3 2 1
(c) A B iC .D
2 3 4 1
(d A B C D
4 1 2 3

Match List-I with List-II .and
select the correet answer: using
the code given below the Lists :

Whaf is the age of the earth?

(a) 046 million years

(b} 46 million yearﬁs,I

{c) 46 billion years -

(d) 46 trillion yeats

/10-B

. In which geological = period

did the shallow-sea
Ichthyosaur first appear?

reptile

(a) Silurian

(b) Devonian

““(c) Triassic

‘10.

11.

12.

(d) Ordovician

Which one of the following
countries: produces the largest
amount of crude steel of the

~world? .

(a) Japan

(b} USA

(c) ‘South Korea
(d) China

Which . one of the following

deserts is famous for its deposits
of nitrates?

(a) Atacama :
(b} Kalahari
(c) Gobi

(d) Sahara

,Who of the following propounded

the law of Primate City?

{a) Carl Sauer

(b} Isaiah Bowman

(c) Mark Jefferson
(d) Walter Christaller
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18,

14,

Niagara Falls is. loctted: between
which -of the followlng paurs of

lakes?

(a) Lake Supenor ‘ an& Lake
Huron

(b) Lake Huron and Lake Erie

(c) Lake Erie and Lake Ontario

(d) Lake Ontario” tand Lake
Huron :

The boundary zone between

- the ‘North Amencan p’late and

15.

the Eurasian* ‘plate = “exhibits

the condition:of = =
(@) convergence.
(b) divergerice’

(c) sinking

(d) sliding -

Consider the outline map - of

India. given -above. The:shaded

..area in the map . represents

' which one

of the followmg

- climatic types as: proposed by

/10-B

C. W. Thornthwaite? -
(@) CA'w
(b) DBd
(c) EAd
(d) CBw

CoprnresT

16

17.
‘ prOJectlons is the equator twice

18.
~ pairs.iof States: is the leading
* producer of tobacco in India?
-{a) Andhra Pradesh and Gu]arat

19.
- developed by UCIL at Lambapur

“d) Zenithal

Wi‘itph one of : the: ‘following
countries-has Red River: delta?

(@) Japan .

(b) Indonesia

{c) Malaysia

i)  Vietpam

In which: one of the following

of - >the “central

“leagth:

;;,“mend.lap? v

(a Gnomomc pro_]ectlon

"A(b) ,,Mercator prOJectlon B

(c) Mollwelde prOJectlonv :

projection

Which one among the ;fe‘llowing

(b) Karnatakaw" and Madhya‘
, Pradesh S
(c) Maha.rashtra |  and
: Chhattisgarh o
(d) Uttar = Pradesh . and
Rajasthan
The uranium mines being

and - Dom1a31at are . located,

- respectively, in which of the

following States?.

(@) Jharkhand and Arvnachal
‘Pradesh

(b} West Bengal and Assam

() Andhra . Pradesh and
Meghalaya

(d) Maharashtra and" Sikkim

https://www.freshersnow.com/previous-year-question-papers/
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20.

21.

22.

23.

“{c) b1ot1te,

/10-B

Granite of
.consists essentially _,of

taken off from whlch ong, of the
following rivers?

(a) Cauvery

(b) Penneru

‘(c) Palar

(d) 'I‘ungabhadra

thch one of the followmg is not

a landform which results due to
rejuvenation of a nver?

(a) Incised- meandér
(b} Knick point’ <
(c) Oxbow lake

(d) River terrace

The term ‘truncated spur’ is
associatéd with which one of the
followm,g" :

(a) Aeqhan process

(b) Fluv1al. _process ‘

(c) Glac1a1 process .

@ Weathenng process .
- plutonié::: origin

(a) shale, conglomerate and
) sandstone ,

(b) quartz schlst and phylhte

_ hornblende  and
augite '

(d} quartz, feldspar and mica

24,

25.

 26.

‘What  is'' the

proportion . of
landmass- ‘of. ithe - ocean  floor
plotted agamst the g1ven datum
liné called? |

(a) Altimetric: curve

(b) Hypsographlc curve
(c) Hygrometric curve
(d) Hydrometric ' curve

Where is.the Mt. Waialeale, one
of the heav1est rainfed places

(11990mm in a year) in the -
world, " located? -

‘ (g& Bra,zﬂ .
(b) ‘Hawaii
(¢} “Philippines *
(d) -Sulawesi. = ..
Consider ~ the following
statements L : -
1. Most rainfall and snowfall in
. . the m1;llat1tudes ‘are formed
. by i nc;;ystal process.
2. The of cirrus clouds

ab curs. at altitude
below 5030@ Fn.

- Which of the ‘statements given
above-is/are correct?

(@) 1 only

(b} 2 only

(c) Both 1 and 2

; (d) _Nex}ther‘l nor 2

27.

Which part of China receives the
highest rainfall?

(a) North-West
(b) South-West
(c) North-East
(d) South-East

https://www.freshersnow.com/previous-year-question-papers/
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28

- vepresent which of the following?

.. 29.

A -star.. dmgram -is used }&JO

(a) Duration. of: wmds only

(b) Flows between: central places
and dependent places

() Wind dlrectlon and duration
(d) Direction of Wlnds only

Construauon ; of & comfort

diagram requires. whmh of the

following data?

“(a) Monthly temperature and

rainfall .

(b) Monthly téﬁiperamre and
relative  huntidity

(c). Monthly  relative humxdxty
“ Tand ramfall :

témperature,

o (d)"i"Monuﬂy
- eirainfathe 7 and relative
hurmd1ty '

30,

. 31.

/10-B

What is the thexmal band region
of LANDSAT" ematlc Mapper
Sensor? -

(a) 0:63-0:69 micrometre

(b) 0:76-0-90 micrometre
(c) 2-08-2:35 micrometre
(d) 10-40-12-50 micrometre

Boulder eclay is

following? L
(a) Mechanical weathenng
(b) Mass movement

" (c) River deposition

(d) Glacial deposition

‘a feature -
« 7 associated with which one of the

10

33.

-, example. - for

34.

38,

. What is the maximum potential
number . .of - inhabitants . which
can be supported in a given
ecosystem known &s?

(a) Biotic potential _

(b) Carrying capacity

(c) Reproductive capacity

(d) Tolerance limit

incident, an
environmental
degradatxon, was due to ‘which
one of the following? =

(@) Air pollution

(b). Nuclear disaster

() Water pollution

(d) Thermal pollution

The Minamata

During Pleistocene epoch, four
glacial phases were identified.
Which one of the following is the
correct chronologlcal order in
which they appeared during this
epoch from early times?

(@) Gunz—Mindel—Wurm—Riss
(b) Gunz—Mindel—Riss—Wurm
(¢) Wurm—Riss—Mindel—Gunz

(d) Mindel--Gunz—Riss—Wurm

Which one of the following
climates 1s found in coastal areas
of Califérnia in North America,
Central Chile in South America

and South-West tip of West
‘Australia?

(a) Tropical savanna
(b) Mediterranean

(¢ Humid continental
(d) -Low-latitude steppe

https://www.freshersnow.com/previous-year-question-papers/
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‘36.

37.

38.

Among the following‘continents,

which one has the lowest growth

rate of population? ‘
(a) North America =
(b) South America =
(c) Australia '

(d). Europe

Consider ' ‘the
statements :-

foflowing

1. A hurricane acquiires its spin
from the Coriolis. effect.

2. The, diameter - of the
hurricane decreases as it
moves away from low
latltudes _

3 'The dlameter of a hurncane
is never below 150 km.

Whlch of the. statements given
above is/ are correct?

(@) 1 only:
(b) 2 and 3 only

"(¢) 1l'and 3 only

(d 1,2 and 3

Among the following countries,
which one has the largest
concentration of Railways?

_ (a) South Africa

/10-B

(r) Egypt
(c) Algeria
(d) Sudan.

39

. 40.

Among the following, which
country is reliant on a single
export of oil/ petroleum?

__fa) South Africa

(b) Zimbabwe _

(c) Namibia

- (d) Nigeﬁa

In remote "ser'ising, "the .strong
‘chlorophyll . absorption band’

lies in the wavelength bands of

“.~which one of the following

ranges?

- {a) 045-0:67 um *

41. Which medieval

(b) 0-30-0-38 um

{c) 0-12—0-28 pum

(d) 0-72-1:30 pm

geographer
made extensive corrections on
Ptolemy’s works?

(a) da Vinci

(b} Al-Masudi

(¢} Alldrisi

(d) Al-Biruni

https://www.freshersnow.com/previous-year-question-papers/




6.

37.

frafaflen wewdt § @ w9

raE-gfy Y < = 87
(o) I SR

(b) Wl sl

(c) s B

@ |

frefifea womt w Bem AR :

1. Wi wiftrifoe wE g v
T JTH A 2 )

2. a\%—ﬁ%mﬁma&nﬁ%g

2l

3. MM & =|E e of
1501?5on°r§€1m=1ﬁ'éml

w{i% ot & ﬁﬁ"—f-m/% wh %_/%?- |

(a) FaA 1‘
(b) Faw 2 AR 3

. (o) Fa@ 133 |

38.

/10-B

(d 1,233

T
maammw%?

(a) <R P

(b) T

(€ swsifmmr .

(d) qsW -

ST R, JEEHT A FH LAl Ar

a0, P § @ W 2w AW

Rifram & e Frata w ffk §7
(a) = sehvE
(b) B

(c) “wfifsn

- (d) TSt

40.

TEY e # gewe ‘Feliiiha Ysaide
a8’ fafrfen am%vf sSst & %ﬁ—ﬁ
wEw e e

(@) .0-45—0;97 um .

(b) 0-30-0-38 pm

(¢ 0-12-0.28 pm

(d) 0-72-1-30 pm

41.

Tore weagi spiieramn 7 o & w1
§ =od guw e ar?

- (b) &

() m-saﬁ@ﬁ |

@ mm

" [P.T.O.

https://www.freshersnow.com/previous-year-question-papers/



42

43'

(b) Jupiter .

L

Which of the follomﬁg i3 oEM@r

- planet? e

(@) Mercury

(c) Venus

(d) Mars

The Great Rift Valley “of the
World passes through which of
the following?

(a} Arablan Sea FREE

" b) Guif of Oman

44,

45.

/10

{c) Red Sea -
(d) Suez Canal
Dead Seais a typ1ca1 example of
(a) step fault ‘ ‘

(b) overthrust fault

(c) normal fault

Which of the followmg is formed
by depositional work of river?

(@ Alluvial fan - ¢
(b) River terrace
(c) Structural beﬁch
(d) Rapids B

B Hﬁﬁgmg valley is found in the

47.

48.

49,

(a) river valley reglon

(b) karst reg10n |

(c) desert ’regibn ‘

(d) ‘glacier fegion

Exfoliation happens. due to

(@) tempeifﬁn:tre ‘and-wind

7 (b) water

::f;';* .

: (e) pressure

(d) rain

_Wl'uch landform is not formed by
“volcano? -

i

(a) Lava plateau’

(b) Lava plaiﬁ' o

(c) Sill and Dyke

(d) Meander

Hypabyssal »igﬁe,ous*rocks alie

(a) intrusive igneous rocks

- (b) extrusive igneous rocks

(c) plutonic igneous rocks

(d) acid igneous rocks
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42.

43.

44,

it ¥ - T e A7
(@) F1

~ (b) TEH

) TH
(d) oA

mﬁmmmmm
o 87

(a) 3 AR
(b) AH A TG
() W ER

(d) SN T

s e e

- (a) MW

45,

(b) *Hfufew v
(c) W= W

(@) e o

mﬁammw%
Al = ZRT A 27

(a) G I
(b) T PR
(c) ST W
(@) T

/10

46.

47,

e T T AR
(@) & urdt &3 8
(b) w83 ° |
(c) ‘mmﬁ
(d) et dms

T B &
(a) A T ARG F HR
(b) A % FRA

(c) m%mv

. (d) & wR

48'

49.

ﬁamﬁrmﬁwﬁwmﬁ@ﬁm

¥ T gan?

(a) TTET ISR
(b) < deE
(c) T & erew
(d) ford

stfacha smi 9 §
(@) ST sm =t
(b) sfeSeht amim agH
(c) wraTel I =g
(d) STA-IUM AW TgH
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50.

51.

52.

53.

/10

The place where earthquake
waves come at first is called

(a) epicentre
(b) focus 7
(c) seismograph centre

(d) plutonic earthquake centre

Moho-discontinuity is a

(a) discontinuous layer between
low;:rl ~crust and - upper
‘mantle o

(b} discontinuous:layer between

upper mantle’ and lower
mantle ‘

(c) discontinuqus layer between
lower mantle and outer core

(d) discontinuous layer between
‘outer care and inner core

Ionosphere begins at how
much distance from the earth’s
surface?

(@) 60 kms
(b) 80kms
(c) 90 kms
(d) 96 kms

The percentage of nitrogen. in
the structure of atmosphere is

(@) 10%
(b) 50%
(c) 33%
(d) 78%

54.

§5.

560

Reverse fault§ are formed dué'to

(a) movement of both the rock
blocks towards each other

(b) displacement of both the
rock blocks in opposite
directions ‘

(c) displacement of both the
- rock blocks horizontally _

(d) movement of both the rock
blocks downward

What is the most important
reason of high atmospheric
inversion of temperature?

(a) Cyclone

(b) Jet stream’

(c) Presence of ozone gas

(d) Terrestrial radiation

C’s climate of Sir Képpen is
found

(@) in the area of Mediterratiean
Sea : o

(b) in the desert ‘of middle
latitude

('c) in the coniferous forest of
middle latitude -

(d) in the subtropical deserts
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57.

58.

59'

During the solstice o

(@) the distribution of insolation
is equal R

(b) the distribution of insolation
is not equal

(c) the amount of insolation is
much

(d) the amount of insolation is
minimum.

Which of the following is called
horse latitude?

(a) Polar high-pressure belt

(b) Subpolar low-pressure belt

(c) Subtropical © high-pressure
belt '

(d) Equatorial low-pressure belt
The meaning of the Arabic word
‘Mausim’ is

(@) ciimélte |

(b) humidity

(c) season

(d) temperatufe and rainfall

60. Which of the following is not

/10

affected by relative humidity?
(a) Temperature

(b) Precipitation

(¢ Human health

(d) Evaporation

- 61.

62

63.

In between 40° to.65° latitudes
along the west coast of

. continents, which type of climate

is found?

(a) China type of climate

(b) West European type of
climate -

(c) Savanna type of climate

(d) Tundra climate

Depth of Puerto Ricovdeep is
(a) 5445 metres - -

(b) 8385 metres

(c) 5125 métreé

(d) 4900 metres

Dogger ‘Bank is 'i‘ocated near
(a) England -

(b) Japan Sea

(¢) Newfoundland

(d) Sri Lanka

. Laterite soils are found in the

(a) coniferous forest region

(b) arid and semiarid region

(c) mediterranean forest region

(d) tropical region
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58.

59.

60.

/10

a»%amwwﬁ%w &
(a) G w1 e @ B §
(b) {‘fﬁﬂﬂﬁﬂmmﬂm%
(c) Tamq it W SfrE B R
(d) T R A R
Sﬂﬁwﬁaaﬁéﬁ:é 3T AW FEd
s

(@) e v

(b) Suydta Fr-arEE 3@

(c) 3w I=-IYEE T

(d) R Fr-argEE

st Tz R’ 7 ol &
(a)

() T

© %

(@) T e

frefefan § § AA-w i o
& wifer T e 37

(@) <T9HHA
(b) =&t
(c) WHE ey

(d) arsdieRter

6'10

62.

63.

64.

40° ¥ 65° J@iW & 9 wEE F
ufRrt PR ® -8 Seary ol
St 87

(@) < g ST

(b) e 7 g Sy
(c) FEF god STy

(d) 3T FTEg

ogi-f T R e
(a) 5445

(b) 8385 HiX

(c) 5125HR

(d) 4900 Hx

e R
(@) TS &% T
(b) STUF WY % U
(c) qFRSHS & I
(d) i a™

e figh vt o &
(@) HUYr 99 &t §
(b) T T g R &
() a2
(d) o s &

[P.T.O.

https://www.freshersnow.com/previous-year-question-papers/



65.

- 66.

67.

68.

/10

The lake of highest salinity is®

(a) Van Lake

(b) Great Salt Lake
(c) Sambhar Lake . .

(d) Dead Sea

‘Uniform depth with 'varying
density’ is explained by

(a) Airy
(b) Joly
(c) Holmes

(d) Pratt

According to 1992 survey, how
much area. of India was
influenced by soil erosion?
(@) 1207 lakh hectare

(b) 15027 lakh hectare -

(c) 167-10 lakh hectare

(d) 173-6 lakh hectare

Who wrote anthropogeograpiie?

(a) E. C. Serriple'

(b} Humboldt
(c) Fredrick Ratzel =

(d) Karl Ritter

69. ‘Towards one world’ enunciated
‘by Dicken and Pitts was

associated’ with

“ (a) economic geography

{b) human geography

. {c) agricultural. geography

(d) population gedgraphy

70. The basis of Griffith Taylor’s

classification  of races of
mankind-is < o

(a)  shape:of nose. -
(b) eye colour .
(c) skin colour

(d) texture of hairs and cephalic
index

. Gonds are the main tribes of

(a) Madhya Pradesh-

Chhattisgarh |
(b) Uttaranchal-Uttar .Pradesh

() Jharkhand-Bikar

(d) Rajastha.n

72. Yellow river is

(a) Yangtze
(b) Sikiang
() Huang He
(d) Wei-He
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73.

74.

75.

76.

/10

Which waterfall about 28 kms

away from Ranchi is located and

formed by river Subarnarekha?
(a) Jonha Falls |

(p) Hundru Falls

(c) Dassam Falls

(d) Hirni Falls

Which mountain system gives
rise to Sabarmati river? -

(a) Vindhyan Mountain system
(b) Aravalli Mountain System

(c) Eastern Hills system

(d) Shiwalik Mountain system

On the banks: of which Indian
river does the city of Jabalpur
lie?

(a) Yamuna
(b) Damodar
(c) Narmada

(d) Tapti

One furlong is equval‘ to
(a) 225 yards
(b) 220 yards
(c) 250 yards,
(d) 230 yards

717.

78.

79,

80.

Which of the following is correct?

(a) Map projection is graticule of
lines

(b) Map projection is graticule of
latitudes and longitudes

(c) Map projection is graticule of
bar diagram

(d) Map projection is graticule of
Crops:. :

Name of the first (1st) satellite
experimented by Indian Space
Research Organisation is

(a) Bhaskara-1
(b) Bhaskara-2

<) Aryabhatta;?

(d) INSAT-1A

Which  of the following
programmes prepared in
computer for GIS is correct?

(a) Symap

(b) GRID .

() IM GRID

(@) All-of thé above

One cm shows the distance of
10 kms on a map. Its RF is

(@) 1:100000
(b) 1:10000
(c) 1 : 1000000
(d) 1:1000
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81.

82.

.~ Absolite humldlty

‘83.

84.

Lake ‘Titicaca, a huge ‘depression
in the intermontane plateaus of

‘the Indus is the result of
(a). tectonic fracture i

(b) subsidence- \
(c) caldera formation: '

(d) .. meteoritic impact

Fme-gramed, ...... .dark-coloured,
extrusive 1gneous“ rock formed
due t6 cooling'andl- solidification
of molten lava at the surface of
the earth is called

(a) basalt

| (b) granite

(c) Both (a) and (b)'
(d) None of the above

1
Humidity capacity X 90 equals

to . o

(a) relative humidity

(b) specific humidit&

(c) genetal humidity *

(d) None of the above

M_«Depressmns that are formed due

to the 1nequa11t1es of temperature

“ and barometric' pressure are

/10

called oo
(a) thermal cyclones
(b) insolational cyclones

(c) migratory cyclones -

-(d) All of the above

85

86.

87.

88.

[ pamerous
population  of

‘Soils derived from crystalline and
metamorphic rocks rich in ferro-
magnesian minerals aggvgglled

(a) saline and alkaline soils
(b) red soils - ‘

(c) peaty soﬂs ,

(d) laterite and latentlc soﬂs

The towns . with . populatlon
ranging between 20,000 and
49,000 are

(a) class” II towns

(b) class 1l towns

" (¢) class TVitowns

(d) class V. towns ...

They constitute an earlier branch
and are further differentiated as
the broad-headed and the
long-headed subtypes. They are
among - tribal

bordering States

(a) Palaeo-Mongoloids

(b) Mongoloids

(c) Tibeto-Mongoloids

{d) None of the above
Projections with one set of
intersecting lines being

geometrically projected and the

other set being drawn purely to
suit a desired property are called

(a) perspective prOJectmns

(b) semlperspectlve pro_]ectlons '
(c) nonperspectlve pro;ectlons
(d) None of the abave
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89. A form of stereogram on which a
picture is formed by -almost
superimposing an image in red
over one in blue to secure a
stereo or perspective effect when
observed

(a) Vectograph
(b) Stereopair
(c) Anaglyph
(d) Stereogram

90. The response of anbrgan:ism to
duration of daylight is called

(a) photokinesis

(b) photoperiodism

(c) pvhototrop,is'm‘

(d) None of the _:al;ove‘ :

91. The most important reason for
cotton cultivation from the
Atlantic coast to Oklahoma and
Texas :

(a) No other crop is suitable in
that area -

(b) The climate is most suitable
- for cotton ’

(c) Meeting the demand of
cotton industry in that area

- (d) Exporting

cotton to
S. America ‘

/10

26

92. With which countries does Iraq
have a common border on its
South?

(a) Kuwait and Iran
(b) Syria and Jordan
(c) Jordan and Saudi Arabia
" (d) Saudi Arabia and Kuwait
93. The topograﬁhical map

numbered as 63 K/2 has the
following scale

(@) 1”=1 mile

(b} 2" =4 miles

(¢ 3”=3km
(d) l” =1 mile
3 v
94, India’s Eastern 7Ghatis and

Western Ghats meet at the
‘o

(@) Cardamom Hills |

(b) Annamalai Hills -

{c) Nilgiri Hills

' (d) Palani Hills
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95,

96.

‘Which of the following is not

correctly matched?

Author. Terms
(a) Clark
and Evans : Near-
neighbour
, ; distribution
(b) G. K. Zipf Rank-size
. Tale
(c) Ackerman : Concentric
zone
’ theory ' -
(d) Hoytand -~
' ‘Daise < : The sector
- theory

Precipitation, . eﬁ'ectlveness and ,

thermal efﬁmency were the
basic features of a climatic
classification given by whom of
the following?

(a) Treewartha

(b) Thornthwaite

{c) Képpen

(d) None of them

97.. ,Whlch of the followmg is not

/10

correctly matched

Name of

Cyclone “Area
(a) Tornado : USA
(b) Typhoon : Philippines
(c) Hurricane : West

' Indies
(d) Thunder-

storm : France

28

o8,

.99.

100.

‘Bhils live over a vast territory

shared by

(a) Rajasthan Punjab, Haryana
and Hlmachal Pradesh

(b) Rajasthan, Madhya Pradesh,
Orissa and West Bengal

(c) Rajasthan, Orissa, Haryana
and Madhya Pradesh

(d) Rajasthan, Madhya Pradesh,

Gujarat and Maharashtra

Slltmg is .a major problem of

which of the industrial reglons?

(a) Chota

Nagpur
region B

Industrial

(b) Delhi and adjoining areas

() Madurai-Coimbatore—
Bangalore mdustrlal region

(d) Hooghly 1ndustr1a1 region

Which one of the following is not
correctly matched?
Associated
Agent Landforms
(@) Running
water Potholes
(b) | Underground »
water Poljes
(c) Seawater ' Midway
~ bar
‘(d) Glacier Playa
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